GVG’2022 Lab-02 CZ

1. Najdéte soufadnice bodu v obraze [u,v]T do jakého se promitne bod X; = [1,2,3]T matici
kamery
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2. Vypoctéte souradnice Cjs stiedu promitani kamery s projekéni matici kamery
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3. Napiste trojdimenzionalni souradnice vSech bodu v prostoru, které se promitaji do obrazu
do bodu [2,1]" matici kamery
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4. Oznaéme soutadnice bodu v obrazu [u,v]". Napiste trojdimenzionaln{ souradnice bodu v pro-
storu, které se promitaji na pfimku v = 0 matici kamery.
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1.

Find the image point [u,v]T which is the projection of 3D point X; = [1,2,3]T by the camera
with the following camera projection matrix
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Find the coordinates of the camera projection center Cs of a camera with the following camera
projection matrix
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Write down the coordinates of all three-dimensional points which project into image point
[2,1]" by a camera with the following camera projection matrix
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Denote the image coordinates by [u,v]". Write down coordinates of all points in the three-
dimensional space that projects on the line v = 0 by a camera with the following camera
projection matrix
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